SECONDARY SCHOOL EXAMINATION - 2024

Areafied Thol TNET — 2024

(ANNUAL/a1i¥)
fawa ais — 112 SCIENCE (Compulsory)
Sub. Code - 112 fasm (aifrar)

$d YTl DI G&T — 80+24+6=110

Total No. of Questions - 80+24+6=110

9 - 2 9 45 fFie qurid : 80
Time : 2 Hrs. 45 Minutes Full Marks : 80
wNafefa & ford fder =

Instructions for the candidates -

1.

wiendi OMR STR—UE W AYAT YRADT HHID (10 Ahl BI) ALY
fored |

Candidate must enter his/her Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.

oRleTTef AATHIE I7U Teal H B IR G |

Candidates are required to give answers in their own words as far
as practicable.

qIfE 3R B R Y 8¢ 3 Yurie fAfdse &_d 2 |

Figures in the right hand margin indicate full marks.

gel Pl eFYdd UgH @ foly wRiemil a1 15 e &1 srfaRed |wd
&= T 2 |

15 minutes of extra time has been allotted for the candidates to

read the questions carefully.
U U UA T WSl H B, WU U9 WUe—9 |
This question booklet is divided into two sections - Section-A and

Section-B.
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Yue—3 H 80 IS UL B | S99 ¥ fbsl 40 Ul P IR <A1 2 |
UAE U B oy 1 3w FuiRa ©1 3 38 wemedt 40 | 1w uedl

P ST <Al 2 Al U2H 40 Ul & IR BT 8] qAid 81T | DT SR

U R MU OMR SWR-9Y3¢ 4 Ry W 98 Jeey & gd &l

Ael/Pd Al U W W e W UBR @1 gaISeR /dRd

geref /=S /RGA 3nfe &1 OMR STR-U5I6 # WANT &xAT AT &,
AT ORI IR =T BT |

In Section-A; there are 80 objective type questions, out of which
any 40 questions.are to be answered. Each question carries 1
mark. If a candidate answers more than 40 questions, then
answers of first 40 questions will be evaluated only. For answering
these, darken the circle with blue/black ball pen against the correct
option on OMR Answer Sheet provided to you. Do not use
Whitener/liquid/blade/nail etc. on OMR Answer Sheet, otherwise

the result will be treated invalid.

EUS—q ¥ 24 oY STRIY U & | 379 8 U Wil A, 8 U A1

IARF & U9 8 Ued oilg [AgM & 2| U vy (Wifde oes, 9=

IS Td Sfig fagm) ¥ IR—aR Y%Al &1 SR 1 8| ISP & forg 2
i fFuiRa 21 s97& fiRaa s @rve # 6 <1 ST ued 3y 79 &

78 9 2 g A I &, 2 U YER”A AR & Ud 2 U o9

fasm & g1 9fde I"T & ude Y ST U & v 6 3fh, YR
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IR U9 oig s & forw 55 ofe fiRa 81 e fawg (Hifas
I, I A T4 Siig fAg™) 3 Ueh—Ud Ued & IR AT J+ard
=

In Section-B, there are 24 short answer type questions. Out of
these, eight questions are from Physics, eight questions are from
Chemistry and eight are from Biology. Four questions are to be
answered from each subject (Physics, Chemistry and Biology).
Each question carries 2 marks. Apart from these, there are 6 Long
Answer “type questions, two questions each from Physics,
Chemistry and Biology. Long Answer Type questions from Physics
carries 6 marks‘each, and from Chemistry and Biology carries 5
marks each. Answer of one question each from Physics,
Chemistry and Biology is compulsory.

8. Pl PR & Seldeid IUHRYT & FANT Yoiadr afsid ¢ |

Use of any electronic appliances is strictly prohibited.

Yus—31 / Section A

axdf~ss 939 / Objective Type Question

U AT 1 ¥ 80 T ARIS U B TH W fbwel 40 Ul B SR o1 B
IS U & A1 AR fdden Ry U & 99 9 U |81 | U §RT g Y Hal
fdpea o1 OMR e R fafed #X | 40 X 1 = 40

Questions Nos. 1 to 80 are of objective type. Answer any 40 questions. Each
question has four options, out of which only one is correct. You have to mark
your selected option on the OMR sheet. 40 x 1 =40

3

BiharboardQuestionpaper.com



https://biharboardquestionpaper.com/bihar-board-10th-science-model-paper/

MR UV & Wadd g6 Bl JAIHR AHT @1 BT AN Heddl & —
(A) G et (B) 9= BIHd

(C) aspar Frsan (D) Tefra T FT ERD

The diameter of a circular outline of the reflecting surface of spherical
mirror is called

(A) Principal axis (B) Pricipal focus

(C) Radius of curvature (D) Aperture

=1 9 9 fhe QU &1 wied g gF D Bl © ?

(A) ST Ul (B) Jm@dael gUIT

(C) ¥l gyoT (D) T8 | BIg T2

Which one the following mirrors has positive focal length ?

(A) Convex mirror (B) Concave mirror

(C) Plane mirror (D) None of these

{3y ol ([9T) BT TR Ha g1 © ?

(A) wref (B) et

(C) diem (D) T

Which colour has the largest wave-length ?

(A) Red (B) Blue

(C) Yellow (D) Violet

fhefl g% @1 ufafde offg & fH9 9T R gsar g ?
(A) T (B) gerelt

BiharboardQuestionpaper.com



https://biharboardquestionpaper.com/bihar-board-10th-science-model-paper/

(C) wiffar (D) smeR¥

On which part of the eye the image of an object falls ?

(A) Retina (B) Pupil

(C) Cornea (D) Iris
fFr=IfeRaa & 5 Aregq H UaT & o1 Ha9 AfH Bl § 2

(A) it (B) <frgr

(C) ®ra (D) frafa

In which of thefollowing media the speed of light is maximum ?
(A) Water (B) Iron

(C) Glass (D) Vacuum

SR it arell 93 AH—ATh W@ Fdhell & —

(A) Frape @7 Tl & (B) X @ a3l I

(C) ®aa BIC—BICT a&I3ll Bl (D) ®act SSI—a$I a3l Bl

The farsighted eye can see clearly.

(A) near by objects (B) distant objects

(C) only small objects (D) only large objects

U AR fHROTYS FHad JUUT IR 3MUfad gl & | gRafid fhorgst gm—
(A) AR (B) HATIR

(C) STy (D) 377% & @IS &

A converging beam is incident on a plane mirror. The reflected beam

will be -
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10.

(A) Converging (B) Parallel

(C) Diverging (D) None of these
I T fOsd & gahaoft favor R, o1 g9&T a7 T8 8T 2

(A) 3rdac (B) frarer

(C) gui—fagrgur (D) 3H ¥ Bl 2l

If a monochromatic ray passes through a prism which will not happen ?
(A) refraction (B) deviation

(C) dispersion (D) none of these

g #, P & IS oW, DI arg # oI BT 7 —

(A) FUTTHS (B) g-TcH®D

(C) st (D) g4 ®Ig &l
The power of convex lens of glass in air is -

(A) negative (B) positive

(C) Infinity (D) none of these

ST B U Mol 8 H ™ & Jfae rufd fhRor el fhael aR agacid
BT ?

(A) 1 (B) 2

(C)3 (D) 4

How many times will a light ray incident along the diameter of a

spherical water drop undergo refraction ?

(A) 1 (B) 2

6
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11.

12.

13.

14.

(C) 3

Reer oI ST & —
(A) g—afra IR H
(C) ¥ ar ¥

Switches are connected in -

(A) Earth wire

(C) Hot (positive) wire

[l / TeAtH hedldl 8 —
(A) arc

(C) st

J/IC is known as -

(A) Watt

(C) Ohm

YId & BT S.|. AHG BT © —

(A) <5 (T)
(C) 9 (wb)

The Sl unit of magnetic field is -

(A) Tesla (T)

(C) Weber (wb)

(D) 4

(B) TS @R #
(D) 5778 & w4

(B) Cold (Negative) wire

(D) All of these

(B) TR
(D) aree

(B) Ampere

(D) Volt

(B) wxrs (F)
(D) 379 | Big &I

(B) Farad (F)

(D) None of these

faea o<1 fAgd—urT & &9 uva R s aal € °?

(A) SHIT U9Tq WX

(B) Y@ 9HIG UR
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(C) gaoIa y¥rd R (D) 379 & PIg L
On which effect of electric current does an electric bell work ?
(A) Heating effect (B) Chemical effect

(C) Magnetic effect (D) None of these

15.  SOYHl dgeoldl & —

(A) &aft T 31 fed oo § (B) Tife sl @ Red oo §

(C) farega @il dl ety ot (D) faea Sotl &l JiH® FHorl A
Dynamo changes
(A) Sound energy into-electrical energy
(B) Mechanical energy into electrical energy
(C) Electrical energy into sound energy
(D) Electrical energy into mechanical energy
16.  3UAcHId B I W IR FRAT Hgar § —
(A) F@Tor (B) st
(C) WRTgc= (D) goi—faergor
The colour dependence of refractive index is called
(A) Scattering (B) refraction
(C) reflection (D) dispersion
17. % HICXBR & yzacyl guor § g7 ufcfdq s g —
(A) a%g ¥ BIcT (B) a%g & 9T
(C) o & geu (D) &4 & 1 el

8
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18.

19.

20.

The image formed in a rear-view mirror of a motorcar is

(A) Smaller than the object (B) larger than the object

(C) equal to the object (D) none of these

U fIed 9el ¥ ORT U &1 0R 9@ RRI & 419 faWaiar &1 919 81 Sl
g

(A) fa=[a ar8d 9o | 31f® (B) fa=Id ar8d 91 & g

(C) Iz @ies a1 | &H (D) SH ¥ P 8l

The potential 'difference across an electric cell upon drawing current
becomes.

(A) more than electromotive force (B) double the electromotive force

(C) less than electromotive force (D) None of these

T 3faciel SUUI b gd Ud B & oid Feg Rerd fdg & forg amael= smm —
(A) 1 (B)2

(C) % (D) 37 & BIg el

The magnification for an object lying at the midpoint between the pole
and focus of a concave mirror will be

(A) 1 (B) 2

(C) V2 (D) none of these

SaTed S99 & Sed A fhed aTse ST B 8§ 2

(A) HHR (B) Brd=
(C) Arggror (D) 78 | &

9
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21.

22.

23.

Oxides of which of the following are generated upon ignition of fossil

fuels ?
(A) Sulphur (B) Carbon
(C) Nitrogen (D) All of these

IEd AR BT S.|. JEE ©

(A) sT—HTeR (B) 3

(C) 3TH /#iex (D) d@ree / Hiex
The S.I. unit of.the electrical resistivity is

(A) Ohm-metre (B) Ohm

(C) Ohm/Metre (D) Volt/Metre

DI FoTad H R &I &% bl S.|. 73D & —
(A) arc (B) S1et

(C) d&R (D) aree

The S.1. unit of rate of change of magnetic flux is -
(A) Watt (B) Joule

(C) Weber (D) Volt

HHRT AEH A BT THT BRAT ©

(A) ash Y@ | (B) g1

(C) iR ¥ & (D) R @ #
Light travels in a homogeneous medium in -

(A) a curved line (B) a circle

10
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24.

25.

26.

27.

(C) indefinite way (D) a straight line
gfe v fUSH A Tepquil fbror ToR, o1 ST el 811 —
(A) aui—faeraor (B) frarer

(C) st (D) & ¥ Pré T

If a monochromatic ray passes through a prism, it will not suffer
(A) dispersion (B) deviation

(C) refraction (D) none of these

AP goldeld UN K0TS MY Bidl &

(A) 1.6 x 10 qeir (B) 1.6 x 10°"® @eit
(C) 1.6 x 107"° Taita (D) 1.6 x 107" gaita
Each electron has a negative charge of

(A) 1.6 x 10%° coulomb (B) 1.6 x 10™"® coulomb

(C) 1.6 x 10™" coulomb (D) 1.6 x 10™"" coulomb

TH i el foleid U= &1 <l &R <l 8 | 8l &1 pH T 8 Adhar g ?
(A) 2 (B)9
(C)7 (D) 10

A solution turns blue litmus into red. What can be the pH of the

solution?

(A) 2 (B) 9
(C)7 (D) 10
AT &I ORAT] T B —

11
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(A) 23 (B) 26
(C) 25 (D) 24
The atomic number of iron is -

(A) 23 (B) 26

(C) 25 (D) 24

28. TP} URATY] B IIEIAH dell § gelagidl ol AT fhaer gt g ?
(A) 4 (B)5
(C)6 (D)7

How many electrons~are there in the outermost orbit of an atom of

sulphur ?
(A) 4 (B)5
(C)6 (D) 7
29. VIMAFEH W A FaEe @ WA 99 &1 UHAT HEer ¥ —
(A) STETTHROT (B) TSROl
(C) wHfgaxo (D) 574 ¥ &g el
The process of forming a thick oxide layer on aluminium is called
(A) Galvanisation (B) Anodising
(C) Enrichment (D) None of these

30. PI9 AT Hleq AIfTe e Afdd rfAfhaeia & ?
(B) CH,4 (B) C2Hs
(C) CoH, (D) C3Hs

12
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31.

32.

33.

Which of the following carbon compounds is the most reactive ?

(A) CH, (B) C2Hs

(C) C,H, (D) C3Hg
fo’sTe gof &1 Imafe 93 7 —

(A) Ca(OH), (B) CaOCl,
(C) CaCO, (D) Ca(HCO3),

The chemical formula for bleaching powder is -

(A) Ca(OH), (B) CaOCl,

(C) CaCO, (D) Ca(HCO3),
RIS AT § WRT @i arel uaTef Bl HET ST 8 —
(A) ST (B) 31®wR®

(C) (A) 3R (B) I (D) 3% & BIg el

The substance which takes part in a chemical reaction is called

(A) product (B) reactant
(C) both (A) and (B) (D) none of these
YU BT © —
) B) ﬁmaﬁfﬁmsﬁzgﬂﬁaﬁﬁf@ﬂ}m
_ FaAYe U, Alse Uue, side-Hl,

(C) S<riH (D) s & I grouma, siea, A 2, He-o 3

N e udten vsa U7 3nfe & f3e...
Tooth paste is - (BiharboardQuestionpap@
(A) basic (B) acidic -
(C) neutral (D) all of these

13
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34, fr=faRad § o9 dEifeTd T & ?
(A) — CHO (B) ~CO
(C)— COOH (D)-O —
Which of the following is a carboxyl group ?
(A) - CHO (B) =CO
(C)— COOH (D)- O —
35. ffRaq @ feds HROT eFeT auf BT € 7
(A) CO, (B) CO
(C) SO, (D) Cl>
Which of the following causes acid rain ?
(A) CO, (B) CO
(C) SO, (D) Cl,
36. [dd B URAIT] WA § —
(A) 27 (B) 28
(C) 29 (D) 30
The atomic number of Nickel is -
(A) 27 (B) 28
(C) 29 (D) 30
37. U Sird Wl H U T a9 § U dlg &1 Dl bl gadT TAT| A
HC & 98 I8 <@l T B Germs @1 v uRafid 8 gar 31 9 Sird

NGl ® faera o7 —

14
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38.

39.

(A) ZnSO, (B) CuSO,

(C) FeSO, (D) Alx(SO4)s

An iron nail was dipped in a solution kept in a test tube, after half an
hour, it was observed that colour of the solution has been changed.
The solution in test tube was -

(A) ZnSO, (B) CuSO,

(C) FeSO4 (D) Alx(SO4)s

AT B Aia HoSOys & I 78 ®9 ) 9 =ifed § d=—r 3 991

87
(A) C2He (B) CH,
(C) C2H2 (D) C2H4

Which one of the following gases is formed on heating ethanol with
concentrated H,SO,4 ?
(A) C2He (B) CH,

(C) C2H2 (D) C2H4

ERT fifed # fow d@ &1 sy § ?

(A) TTETH BT (B) BR®BRA &I

(C) Rafera @t (D) ®TET &

Diamond is an allotrope of which of the following elements ?
(A) Sulphur (B) Phosphous

(C) Silicon (D) Carbon

15
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40.

41.

42.

43.

Th YT AF ¥ fHaAr e IR g9R—7 S FhdT § °

(A) 2 HeR (B) 5 #eR

(C) 0.5 faHT (D) 2 fordii

How long a wire can be made from 1 gram of gold ?
(A) 2 metre (B) 5 metre

(C) 0.5 km (D) 2 km
fifea iRl § o9 o # faog ® 2

INESIE] (B) fAer=

(C) Tef@rst ) EIERSRERIES
Which of the following compounds is soluble in water ?
(A) Benzene (B) Methane

(C) Glucose (D) Carbondioxide

fereifera # @IF smerTd & ?

(A) Cu — Zn (B) Pb - Sn

(C) Cu—-Sn (D) Na - Hg
Which of the following is an amalgum ?

(A) Cu — Zn (B) Pb - Sn

(C) Cu—-Sn (D) Na - Hg
TR @1 IUPAC 1 & —

(A) Ter (B) wefr

(C) verrg (D) =74 & BIg &I

16
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The IUPAC name of ethylene is
(A) Ethane (B) Ethene

(C) Ethyne (D) None of these

44.  GSAF BT JUA C4HgO T | 3T fharelal WE & —

(A) Vfesersfes (B) wreifte

(C) Teprgifern (D) 377 ¥ &g 7L

The molelcular formula of butanone is C4HgO. Its functional group is
(A) aldehydic (B) ketonic

(C) alcoholic (D) none of these

45.  UeHIed ¥ &I HIE AR & 419 fHa Agdareid 99+ 81d 8 ?
(A) 2 (B)3
(C)5 (D) 7

How many covalent bonds are there between two carbon atoms in an

alkyne ?
(A) 2 (B)3
(C)5 (D) 7

46. RIER 59 91 & D 7 7
(A) Mg (B) Al
(C) Fe (D) Hg
Cinnabar is an ore of which metal ?

(A) Mg (B) Al

17
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47.

48.

49.

50.

(C) Fe (D) Hg
JPhTSS 3D BT AigvT f=ifeed # fbd fafy grT 8T 2 ?

(A) saor fafer (B) ferema=
(C) &1 & bR (D) B—ScueraT fafy

The sulphide ore is concentrated by which of the following methods ?

(A) Liquidation process (B) Calcination

(C) Handpicking (D) Forth-floatation method
STl & gl sfuEed H delle W dIA— 9 qaq 2 § ?

(A) BTERITT (B) ST

(C) Sifeitor (D) ¥ & P T

Which gas is liberated on cathode in electrolysis of water ?
(A) Hydrogen (B) Ozone

(C) Oxygen (D) None of these

fr=ifhd % I A1 dcd Fa¥ 31 SIS o1 arell © ?

(A) CI (B)N

(C)P (D) S

Which of the following elements possesses the maximum nonmetallic
character ?

(A) Cl (B) N

(C)P (D) S

e efren (foam) & e g3 @1 e ?

18
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51.

52.

53.

(A) Na,C0O3.10H,0 (B) CuS0,4.5H,0
(C) CaCO, (D) 374 A PIg Bl
What is the chemical formula of blue vitriol ?

(A) Na,C0O3.10H,0 (B) CuS04.5H,0

(C) CaCOs; (D) None of these

Tl Had ol Al ® —

(A) v it (B) WK St

(C) STe—Jed &l (D) =% & &
Pollution-free source of energy is -

(A) Wind energy (B) Solar energy

(C) Hydro electricity (D) All of these

fFifd H fha grggidrad § drda—dbldd URHIY] & &< i< 3f6e 8idr & °

(A) CsHs (B) CsH4

(C) CzHe (D) CH,

Which of the following hydrocarbons contains “3.bonds between

carbon-carbon atoms ?

(A) CsHs (B) C3H,4
(C) C2He (D) CH,4
freiferd o -1 A3ffTe, Wifes difie © 2

(A) B (B) W=
(C) &g (D) M9

19
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54.

55.

56.

Which of the following compounds is an aromatic compound ?
(A) Methane (B) Propane

(C) Butane (D) Benzene

I I Il B AINSTH A9 HEAd & —

(A) TSI (B) wrg

(C) wii¥e® (D) TR

Sodium salts of higher fatty acids are called -

(A) Detergent (B) Soap

(C) Plastic (D) Rubber

Th Pell | goldell &) f&hdd dw=ar gidl & —

(A) n? (B)~
(C) 2n? (D) n?+ 1

The maximum number of electrons in an orbit is given by

(A) n? (B)%
(C) 2n? (D) n2+ 1

ATgeid &1 AHR Bidl & —

(A) TRTPR (B) Mefrey

(C) Prysam (D) 7 & P T
The shape of cyton is -

(A) Star-like (B) Circular

(C) Triangular (D) None of these

20
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57.

58.

59.

60.

fa=ifed & @19 e urqyw gEiE T8 8 ?

INEIESISIE] (B) Tloret =

(C) wrgeTepTET (D) siffa=r
Which one of the following is not a phytohormone ?
(A) Oxytocin (B) Ethylene

(C) Cytokinin (D) Auxins

IRAT FTH BBl T HRAT © 2

(A) Tara=iferenT (B) T

(C) 9o (D) wbsT

From where does urea enter into the blood ?

(A) Respiratory tube (B) Liver

(C) Kidney (D) Lungs

fFfeiRad # & fodl aiRReIfde 3 &1 (& Si9 gcd 8 Fdhdl © °

(A) =T (B) ®a®

(C)arg (D) FaT

Which among the following may be a biotic component of an
ecosystem ?

(A) Temperature (B) Fungi

(C) Air (D) Soil

TR B AT AIGT B S FATST A 1 2 —

ES (B) STl

21
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61.

62.

63.

(C) Iy (D) sisT

Male and female gamete combine to form -

(A) Seed (B) Zygote
(C) Sperm (D) Ovum

ey JURre Afyd vEd € —

(A) BRI Ridaams | (B) uRrai |
(C) BTet (D) 5T &t

Plant waste materials are stored in -

(A) Cellular vacuoles (B) leaves

(C) bark (D) all of these
AT RIS Y9 <19 8Iar & —

(A) 130 mm (B) 120 mm
(C) 100 mm (D) 80 mm

The normal diastolic blood pressure is -

(A) 130 mm (B) 120 mm

(C) 100 mm (D) 80 mm

T, fdeell doT TwTee & SFUE 8 —

(A) STRTHSITT 31T (B) RIS

(C) 3raeeT i (D) 3% & BIg el
The forelimbs of man, cat and bat are -

(A) analogous organs (B) homologous organ

22
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64.

65.

66.

67.

(C) vestigial organs (D) none of these

Ueyd H FAYH STRERT B —

(A) STl Hag (B) TfAARFT Haga

(C) SifairorT Hag (D) 4o Gag

In plants, phloem is responsible for -

(A) Water conduction (B) Aminoacid conduction
(C) Oxygen econduction (D) Food conduction

Uh I AR B fba fd B 8 2

(A) 28 (B) 36

(C) 32 (D) 34

How many teeth does an adult person have ?

(A) 28 (B) 36

(C) 32 (D) 34

Tgio &1 & 2

(A) =R fefer gfaie (B) e fofr gt
(C) ara® 4 (D) s7¥ & &

What is androgen ?
(A) Male sex hormone (B) Female sex hormone

(C) Digestive juice (D) All of these

R &1 I8 2w 1 SRl IHeN BIRTe & Sl § —

(A) df3rrer R (B) <if3reprer

23
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68.

69.

70.

(C) Ssre€ (D) =t fife
Part of the neuron where information is acquired -
(A) nerve ending (B) axon

(C) dendrite (D) cell body

JaRrehdr &1 Rigrd fbad uearfda fear ?

(A) D (B) =med STfae

(C) IR WA Fed (D) 37 | BIg 2
Who proposedithe. theoy of heredity ?

(A) Lamarck (B) Charles Darwin
(C) Gregor Johann Mendel (D) None of these

UPBTeT HIATIT Bl ThTI—IIHAhAT ¥R &=t & —

(A) ST WR (B) I @1 e W
(C) TRt WR (D) s7H &1 &R

Light reaction of photosynthesis depends upon -

(A) Water (B) Sunlight

(C) Chlorophyll (D) All of these
Td | IATed q3 AR § AT § —

(A) Tt & (B) et <

(C) (A)Td (B) qril (D) &4 & Pk el

Urine produced in kidney is transported to the uninary bladder by -

(A) urethra (B) ureters
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71.

72.

73.

74.

(C) both (A) and (B) (D) None of these

R a1 8 2

(A) PR (B) et

(C) & (D) 74 & ®Ig Tl
What is blood ?

(A) Cell (B) Matter

(C) Tissué (D) None of these

el # AR—YoT 3T & —

(A) afcar (B) afderr

(C) sier (D) gHuR

Male reproductive organ in flower is -

(A) Style (B) Stigma

(C) Ovary (D) Androecium

T MRS &ifp WS g9 gRT forar Tam & —

(A) IR S Hed (B) diotid
(C) =y ifd= (D) el

The origin of species is written by -

(A) Gregor Johann Mendel (B) Weismann
(C) Charles Darwin (D) Lamarck ﬁgg&%gjm_ﬁ
. UTShd, sied, Ale e&c, Ae-301 3
HEG MER AT BT Fa a1 91T & — iRwsuder aRsBRr.
(A) Il (B) &< 3ifd  ( BiharboardQuestionpaper.com p
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75.

76.

77.

(C) Bt sifd (D) 3T

The longest part of human alimentay canal is -

(A) Oesophagus (B) Large intestine
(C) Small intestine (D) Stomach
/=1 % & B9 AIQT S dF BT 9T A8 B 2

(A) TaTerT (B) gepatfeet

(C) fSqariesh (D) srsEra

Which of the following is not a part of female reproductive system ?

(A) Uterus (B) Vas deferens

(C) Oviduct (D) Ovary

fbd Sitg # EHralfdT 8l 8rar & 2

(A) TS (B) Teft

(C) Fg= (D) 3774 & @I el
In which animal Haemoglobin is not found ?

(A) Fly (B) Birds

(C) Humans (D) None of these
T ¥ TId Yad HIRIEs @) Sitas Smafdy faer gt 8 ?
(A) 2 & 3 HEIMT (B) 20 ¥ 30 &=
(C) 4 wEFT A 37e® (D) 12 ¥ 20 faA
What is the life span of W.B.C. in human ?

(A) 2 to 3 months (B) 20 to 30 days
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78.

79.

80.

(C) more than 4 months (D) 12 to 20 days

URIE JId T AShIUThAr fheia gRT fordl 718 off ?

(A) A (B) sIfd=

(C) Ve g@ ESE

The famous book ‘The Micrographia’ was written by whom ?
(A) Robertson (B) Darwin

(C) Robert:Hooke (D) Brown

arell SR IRl DL DIRIBIST BT dLT~Teh eI AT Pl & ?

(A) PIRreT s (B) Haw R

(C) Srgdferent (D) ATSCIoMca

What is the scientific study of plant and animal cell called ?
(A) Cytology (B) Histology

(C) Genetics (D) Cytogenetics

arell H AIor fbd wg H S sier g 7

(A) Tepret (B) %erd

(C) areH (D) <1 wirs

In what form is food stored in plants ?
(A) Glucose (B) Starch
(C) Protein (D) Fatty acid

¥uvs—9 (Section-B)

Hifa®s It (Physics)
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oY 3 939 (Short Answer Type Questions)

U W1 1 ¥ 8 Tb oY SR © | 599 A fbgl 4 Ul BT IR § | TP U b
ford 2 i FEiRa B | (4x2=8)
Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions. Each

question carries 2 marks. (4x2=8)

1 I & UG & S a5 "gedl & AW folkay o & R =8 <a g1 2
Write two.components of sunlight which are not visible to us.

2. I FHEDHII UROT F AT FIT FAS & 7 2

What do you meanby electromagnetic induction ?

3. TP G T & P 2

What is nuclear fusion ?

4, STl oiF Ud 3[addl ofid H 3fdR W o | 2
Distinguish between a convex lens and a concave lens.
5. 3T BT FHGH—&H T | 9T deqd & ? 2

What do you mean by power of accommodation of the eye ?

6. IRINN |93 T & 7 2
What is a biogas plant ?

7. AT & &IV BTeF 1 e ford | 2
Write Fleming’s right-hand rule.

8. JUE AR U8 H R W PN | 2
Differentiate clearly between satellite and planet.
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el S 939 (Long Answer Type Questions)
9 GIT 9 AR 10 < IR B | 399 A fhAl U &I SR < | UAd U & fou
6 3ip MYURT B | 1x6=6

Question Nos. 9 and 10 are Long Answer Type. Answer any one of them.

Each question carries 6 marks. 1x6=6

) T qIded o B BIHA—g DY [hreli| ? 6

How will you determine the focal length of a concave lens ?

10.  faEgd #ick a1 € ? v9e Rigr SR fhar &1 dfs goid o | 6
What is ‘an.electric motor ? Describe with a diagram its principle
and working.

AT I (Chemistry)

o S 939 (Short Answer Type Questions)

U3 GRAT 11 W 18 Tb ol SN & | 8 A bl 4 T BT SR T | AP U
& forg 2 o PefRa §) (4x2=8)

Question nos. 11 to 18 are Short Answer Type. Answer any 4 questions.

Each question carries 2 marks. (4x2=8)

1. ST AR &P B G H BT USSR BN ITIRT FT fhar Srar 8 2 2

Why is baking powder used to fluff bread and cakes ?

12. MYFH amad = @ 7 ? 2

What is modern periodic law ?

13 e B O o9 I fbd YpR s=mrr Sirdr g 7 2

29

BiharboardQuestionpaper.com



14.

15.

16.

17.

18.

How is iron protected from rusting ?
FASTRAT | 3 RIT FASI & ° ATl &l Adloidhal ford | 2

What do you mean by valency ? Write the valency of oxygen.

AP R © ? Ub Fad Bl T4 (o | 2

What are indicators ? Write the name of an indicator.
3R & faadd @1 a9 B W H30" &1 Figor & uRafdd gar g 2 2

How is concentration of H;O" affected on diluting an acid solution?
AT IR H IRt ] DI T Fg H I T AT § 2 2
Why have the noble gases been placed in a separate group in

periodic table.

TG A7 F 3T R qHSd © 2 2

What do you mean by homologous series ?

4" Sa9F 939 (Long Answer Type Questions)

o AT 19 IR 20 AY IR 21 398 9 [HA Th &7 SR < | UAH U &
foru 5 ofe MERT T | 1x5=5

Question Nos. 19 and 20 are Long Answer Type. Answer‘any one of them.

Each question carries 5 marks.

19.

20.

RIS UMl @ SR WX eTgail Ua Sfemqei # fawg & | 5
Differentiate between metal and non-metal on the basis of their

chemical properties.

fAsterg f6A ®ed € ? $9d 31 IRV < | Wserg & A9 ST &

quieT P | 5
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What is an alloy ? Give two examples. Explain three uses of

alloys.

Siild fasim= (Biology)

oY 3 939 (Short Answer Type Questions)

U T 21 9§ 28 T Y SIRIY & | 379 I (b8l 4 Ul Bl IR < | AP U

& forg 2 sf FEiRa 2| 4x2=8

Question Nos. 21 to“28 are Short Answer Type. Answer any 4 questions.

Each question carries 2 marks. 4x2=8

21.

22.

23.

24,

25.

26.

AT dF & Hraf Bl 9an | 2
Describe the functions of the nervous system.

3TORT & T DR & ? 2
What is the function of placenta ?

JOY—THGS] Bl R T | 2
Define vasectomy.

T qT fAvAU 9T H 7 SR 7 P 2
What is the difference between autotrophic and heterotrophic

nutrition.

JAMATSH @ HHI A BIF dTell R &I Hferad quid o | 2
Describe briefly the disease caused due to deficiency of iodine.

JATER HAT &IT & ? I8 | 2
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What is food chain ? Give example.
27. TaTe Bfetdrd - 8 ? 2
What are the taste buds ?

28. ST BT Hgcd T © ° 2

What is the importance of haemoglobin ?

<" ST 939 (Long Answer Type Questions)
9T GIT 29 MY 30 < IR B 599 O AT U BT SR S| Ub U B
foru 5 ofe MeRT Tl 1x5=5

Question Nos. 29 and30.are Long Answer Type. Answer any one of them.

Each question carries 5 marks. 1x5=5

20 AR N [, IHRNLATT & oI TRt NMaTIF T | 5
Explain how chlorophyll is essential for photosynthesis.
30.  oraeE fREr o It ARl @1 avE ) | 5

Describe various methods of population control.

fere §1¥ & o1e 3ile yerat siffthfaas
dAY Uge, ATS ue, ide-Hl,

UT&ashd, siied, Al eee, Ae-317 3iie

W& udtent usst a4 3nfe & f3e...

( BiharboardQuestionpaper.com ,D
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